ECOA (HN)-03

West Bengal State University
' B.A./B.Sc./B.Com | Honours, Major, General ) Exammat:ons, 2015

PART - 11

ECONOMICS — HONOURS
Paper - III

Duration : 4 Hours ] ' : ' [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full morks.

Use separate answer script for each group.

2 Rea o fon ot aazT Ts ]

GROUP - A
faore-=
( Marks : 50 )
1.  Answer any three questions : : : "3x4=12

- Fors oo Som i 2

a) Let the demand function and cost function of a monopbliSt is given by
P= 10(_) —-4g and C =50 + 20q. Find the equilibrium P, g and level of profit
(i) with no price discrimination, (ii} with perfect price discrimination. 2+2
wwmawﬁmw@amﬁmem'wﬂw P=100-4q &%
C =50+ 20g | OF SeHAMAPIER SEA P, g Lﬂa\wwﬁq‘aww
() W JIFRRe (TR, (i) ¢ W IR ISAA |
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b} Wil a monopolist be inclined fo produce if the demand for his product is

4

always unit elastic ?

T BN TR bR @ @7 RN 78 SR SesEil Sesiel FACS

Tt @ e 2
é] Define an inferior input.
8 Tofmrersr wges o
dj Explain the meaning of Nash-equilibrium. How is this concept relevant in a

oligopolistic market ?

A SIEENR GRS AT T | AT IR SRR FH T 98 gRenfe
froa aweed ¢

el  Whatis moriopolistic exploitation ?

QFTHHA FRAEE I 2T F7F (@R 2

.2, Answer any one question : : : _ 1x8=8

(IG5 o743 Bga WA ¢

aj Explain vﬁhy there is a social cost of monopoly.

QA FRYIET CFE TGS I 9ITF S A F9H |

by Explain with reason that a labour supply curve might be backward bending,.
_WWW@%W&@WW—@?WﬁW%HW! '

¢}  Show that a -trade union can potentially raise both wage rate and
employment in a monopsonistic labour market. | _
CRM (@ @3 TR mem e @3l 2T e wefik = e e
TR TS AN | |
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- 3. Answer any two questions : : _ 2x15=30

SRS R R ER IO

a)

bj

<)

)

Discuss the nature of efluilibriuni outcome when one of the two firms
in a duopoly market behaves autonomously and other acts as follower.
weeife TR T4 qbe W @3l T mANeE g @ awe el e
ST TR, OIA S AFS (FF 2@ HEABA T |

Explain the determination of price and output in a model with a
dominant firm and competitive fringe. - 8+7
aﬁwﬁixawmﬁﬁﬁwﬁ%@mmmﬁmmamaﬁ
TS A @ Seotw Fidaer e R waw 0

Can you even obtain the market demand for a productive service from

the simple summation of individual factor demand curves ?

-@m@mlmﬁw@m&m@w-wmwmﬁéwmﬁeﬁ_

TR AR HIAT (A T FACS AR 2

Can you link the distinction between rent and quasi-rent with the

elasticity of input supply ? _ 8+7 .

AT @ A SIER @ e e R SRR CTeT-

Fifomerrom ISP (TS W 2

Discuss some cases of externalities in production and consumption.

“Externalities destroy the optimality of the market economy.” Explain. 5 + 10

(ol @ TeAME (FCE 97 A oo e N | AE dem aww
AT TS 48T FE 1 ARG FEA | i |
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d}  Write short notes on any twe @ ' 2 7%

Bl PrE (G cem i ) s

i) Two-person zero-sum game
b i o W 7= o

i)  Adverse selection
ERICERERI

iif  Regulation of Natural Monopoly

FreRT e TR [y
iv) .Adding-up problem.
G AT )
GROUP - B
fetet-q
{ Marks : 50 )
1.  Answer any three questions : ' : 3x4=12

G-(FF o=l oo Tea i 5

a)  Distinguish between Commeodity money and Fiat money.

mmrmaﬁm‘t:wmwm@ﬁmw )

b). Why have the New Classicals criticised Keynesian economics as

" fundamentally flawed ? .

@aﬁawﬁmwmm@mwmﬁwmmﬁsm?
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¢)  What are meant by credit creation and credit control ?

el @ «@ag Wl g T@ics @ @ 2

d} How does the inter-temporal substitution of labour explain the fluctuations

of output and employment ?
HOE W ofiee Maw weify e Seenm ¢ Frame eF-A qm
AR ? "

€) Why is recession considered as a bad thing for an economy ?

AT LTS TUNF (FF YA BATI 5147 TA T 2

1y How will you divide the models of aggregate supply with respect to the
clearance of market and with respect to the location of market imperfection ?
A ORANT (market clearance) @3¢ TONR wojefEeln fefers afaw sz
s S frerr o FRe ¢

2.  Answer any one question : _ 1x8=8

AT a6 ored Ter T ¢

a) What is Stagflation 9 Use AD-AS model to explain stagflation.
Frorrm qurhfe e1te R @R 2 AR 5IiRA ¢ AR M TEER AR
«frEfels mm 3% |

b) Explain the process of ¢credit creation in a fractional reserve banking system.

BT T GIE TN 4o YT ofFa’s e e |

¢)  Using Fisher’'s model show how changes in income and changes in real

interest rate affect consumption.

Mﬁwwwmﬂﬂ@ﬁs@quﬁa@m\mww
AT T (S AR 27 |
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3.  Answer any two of the following questions : _ ' 2x 15=30

@ 7 eltew Tea e s

a} | Explain hdw money can be treated as an inventory to show that the
transaction demand for money has interest sensitivity.
e WEys o BN Wmmmmamwmmwm
Torg ﬁ\“ﬂﬁlﬁ i |
b} i) Whatis Tobin’s g ? Is there any relation betweeﬁ q théory of investment
and neoclassical model of investment ? Explain. - : 7
Bﬁmquﬁsm?ﬁﬁmmqm maﬁﬁmrcwwﬁasﬁm

T B G ST S 2 R A |

if}  Can you explain the rise in prices of housing in recent years through a

model of residential investment ? How can it be related _tb Tobin's g? 8

Wmmwquﬁﬁﬁﬁmﬂwaﬁﬁq@wm

AN FET | RET - 0F-9F F @3 v fF o
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. c) What does the Phillips curve say ? In what respects the Phillips curve that
economists use today differs fr;)m the relationship between two vgriates tha_t
Phiilips originally examined ? Derive the Phillips éufve from the aggregate
supply curve and explain thé relationship between unanticipated inflation
and cyclical unemployment. When does the Phillips curve shift 2?1 + 3+ 7 + 4
ReIoD e T R 2 STafwSIE Refotst b boTers T ¥ Aol e B
O U TSR SRR F9% e RBop G S 2
R A TR (xR e et frefa Tow @3t sl SErdfs o
PR CRFTTES T STo0r R4 | T RAPIS( T T ARG W75 2

d) What are the instruments of monetary policy ? What are the implications of

an endogenous money supply in a standard IS-LM framework ? 7+8

ek Afica TSR e e 7 15-LM T0OT1 STersin S (e wesrd 7 2
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S West Bengal State University _
B.A./B. Sc / B Com ( Honours, Major, General ) Exammatlons, 2015

PART - 11
ECONOIICS — HONOURS
' Paper - IV

{ Groups A& B ]'

Duration : 4 Hours | _ { Full Marks : 100

Candidates are required to give their answers in their own words as far as pracﬂcable
The figures in the margin indicate full marks

Use separate answer script for each group.

GROUP - A
festtw

. { Marks : 50 )
1. Answer any three questions within 100 words each. _ ' 3x4=12

o Foaft et Bom afel yoo tara W e 3

a)  What is meant by *tragedy of commons’ ?

b)  What do you mean by ‘sustainable development’ ?

SRR SR qeTce i @I 2
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c) Explain the concept of disguised unemployment.

ATH EERCIT A9 I TFA

d} Define hﬁman capital.

THTTIE A e |

e}  Mention the broad indicators of development.

TumAd UM Pref Rge 3% |

2. Answer any one question : - o _ 1x8=8

- Gl AT Toa i ¢

a) Discuss Harris-Todaro model in explaining rural-urban migration in less
developed countries,
TEWS (PIOPTS oIN-EE HOR ey REA® Harris-Todaro FSEH LI

HIETE FFA |

b) What are the implications of gender discrimination to economic

development ?

wtRfoF Saae v o fofes (aaeTm aeref fe & 2

c) Analyse the correlation between economic globalisation and envirenmental

“pollution.

wetfe e @ S e W o s Rl R
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3.  Answer any fwo questions ; ' " 2x15=30

QT 76 2T Ted fer ¢

a}  Discuss the debate on Balanced vs Unbalanced growth.

SRR M ¢ SR e o Redf S v |

b) * What factors are .res.ponsible for differences in tef:hnological choeice between
developing countries and developed countries ? Discuss in tﬁis context thg
conflict between employment and outi)ut and employment and savings
involved in the choice of techniques in the dev.elop'ing gountries.
@ﬁ@@@ﬂﬁﬂ%mﬂéﬁrﬂ'ma{%ﬁﬂmwmmcwﬁmﬁmﬁ
R R e R ety semnp—

ST oo P eI S ST T | |

c} Distinguish between economic growth and economic development. Discuss
whether per capita income can be used as an index of development.. 6 +9
i Mg (growth) € WAF CHIA (development)-&7 Tof NI FIF |

TfPHg S S SN S5 e IR 1 G R e w9 |
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d  j) Explain the notion of low level equilibrium trap with special reference
to income depressing forces and income raising forces in an economy. 9
@ SR WEET e @3 T AfemE a3 sifsfie

e R WA R i N |

i) Do you think that a critical minimum effort in the form of huge dose of -
invesiment is inevitable to free the écdnomy from this tfap ? 6
wmﬁi%smrm@acqGmﬁﬁwﬁaaih?6u¢ﬂp?¢m§@mrﬁqavﬁmm
R s @ S e S e 2

GROUP - B
farota-4

( Marks : 50}

1.  Answer any three questions within 100 words each : _ T 3x4=12

(- Tonis 20Hy B6a ofel yoo *arg wog m ¢

a} = Define international transfer of technology.

R e TEREE e o

b]  Discuss the functions of International Monetary Fund.

RS W SFUEe SIRE YT 799 |
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c) Give two arguments for pfqtection.
FAETFCE FCF o ‘{ﬁ\'F ﬁ—-{ i
d) : What is Multinational Corporation ?
ILEISF AH PIE I 9 '
€) What do you mean by ‘unequal exchange’ ?
o R 3108 6 (I 2
2.  Answer any one:question : : ' ' _ Ix8=8 |
- @b ot Tee s
a)  Discuss the role of state in the planning of a mixed economy.

b}  Discuss how the development of the Centre leads to thc_ underdevelopment
of pei'iphery.
mﬂaamﬁﬁm@wﬁaﬁawmﬁmwmm |

c) Discuss the functions of the World Bé.nk. |

g Theas SRRB G FF9 |
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3. Aﬁswer any th0 of the following : '. ' 2x15=30
TG Wi m Teq fim ¢ |
a) Do you support the Prebisch-Singer thesis ? Justify your answer.
- e T Pk'ebis;i’n-Singer gth AL I 2 ‘ﬁ[ﬁﬁ’ﬂi TR T &Tﬁﬁ%@ A |
b) .Describe the transition from Mercantilism to Industrial (_:apitalism in

Western Europe. What is its impact on Third World countries ? Discuss in

' detail,

: vﬁamm_mﬁﬁ-m%@mﬁﬂmﬁww | o RogR o

TR Tor 7 WS I o A A |
c) Evaluate the structural adjustment programme of the ILM.F, Analyse the
nature of the Third World debt crisis. | 8+7

R, O, GG TS T FL-07 P T | v@m o oriaPis ¥

TEDY TG (O T |
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d) Do ‘you think that ‘export promotion’ is ‘a better strategy than ‘import
substitution’ for industrial development in LDCs ?

el S T SRS I N I 2
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